Dimensione sala: 15,15 mx 6,95 m

- Superficie: 105,20 mq
Altezza: 3,10 m

&= Banchi Scuola: 36 pax

&% Platea: 70 pax

{7+ Conferenza: 35 pax

fT: Ferro di cavallo: 20 pax
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Dimensione sala:

Superficie:

Altezza:

Banchi Scuola:

Platea:

Conferenza:

- Ferro di cavallo:

7,95 mx6,95m

55,20 mq

3,10 m

18 pax
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Dimensione sala:

Superficie:

Altezza:

Banchi Scuola:

Platea:

Conferenza:

Ferro di cavallo:

7,95mx 6,95 m

55,20 mq

3,10 m

18 pax

35 pax

20 pax

20 pax




[.eonardo 1 Leonardo 2

XL =] A

T

[ e

7

[T T[T

ﬁ
“1 .
&




